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" 14:05 0.0 5.7 |# ] 165 7.4

311 |11010 180 6.5 |IK e 10.5 6.6

s |13:30 8.0 8.0 | % 18.0 6.7
3.26 |11:15 6.0 6.4 | & & 9 >30 6.8
13:35 6.0 7.2 | B8 & B >3890 6.9

B o5 fE 9.5
g O fE 6.6
oy OfE 7.2
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BRkHS RREET Ay P B

Cd (ppm) | Pb (ppm) | Zn (ppm) | C u (ppm) | As (ppm) i %
0002 | 0040 0060 | 0055| 0008 |@BH —
0002 | 0061| 0061 | 00538 | 0009
0003 0010| 0025| 0037]| 0005 2 6m
0.003 | 0000| 0060| 0026 0001
0.001 0.0 08 0.080 0,079 0005 -
0002 | 0018| 0090| 0106| 0007
0.002 0.014 0110 0.114 0010 -
0.002 0.014 0.125 0.111 0.013
0.002 0.022 0.122 0.076 0.012 -
00001 | 0020 0101 | 0065 | 0008
0002 | 0022 0126 | 0132 | 0006 -
0002 | 0019 | 0090 | 0048| 0008
0002 | 0048 0118 0045 | 0008 —
0002 | 0008 0160 0054 | 0006
0003 | 0015| 0110 | 0048 | 0004 -
0002 | 0013 | 0104 | 0079 | 0008
0001 | 0000| 0095 | 0074 | 0007 0
0001 | 0000| 0054 | 0045 | 00009
00004 | 0022 0328 | 0101 0011 1
00008 | 0022| L770| 0685 0010
0.003 | 0000| 0133 | 0045 0006 0
0002 | 0000 0155 | 0048 | 0009
0002 | 0026 | 0020| 0116 0004 0
0002 | 0026| 0126| 0095 | 0005
00003 | 0034 | 0157 | 0075 0011
00003 | 00027 0145 | 0058 | 0014
0002 | 00018 | 0198 | 0014 0007
0002 | 0018| 0152 | 0009 | 0007
0.004 | 0061 L770| 0635 | 0014
0001 | 0000| 0020 | 0009 | 0001
0002 [ 0019 | 0174 | 0873 | 0008




LR A PER A&

5A Ak#A REET Ay P E4H

Cd (ppm) { As (ppm) | Zn (ppm) | Cu (ppm) | P b (ppm) & (am)
0
35
6
39
1
0.002 0.0038 0117 0,091 0026 -
0,001 0010 0106 0.0 82 0.026 -
0.002 00114 0,090 0.068 0,041 4
0.002 0011 0.103 00738 0061 0
0.002 0.013 0.103 0077 0,041 -
0.002 0.009 0.145 0.063 0,041 0
0.002 0010 0.138 0.065 0.041 2
0.002 0,009 0.088 0.055 0050 11
0.002 0010 0.100 0061 0046 -
0.002 0.010 0.099 0056 0.036 7
0,002 0012 0,120 0.097 0,041 -
0.002 0,010 0.088 0.056 0,026 22
0.002 0,011 0.0638 0.051 0.0 21 1
0,001 0.008 0.088 0051 0.026 -~
0001 0012 0.06 2 0.065 0021 -
0.002 0.0314 0110 0061 0,031 -
0.002 0.008 0.0638 0.099 0000 —
0.002 0,009 0.112 0.063 0,021 62
0.003 0026 0.519 0.450 0.089 | W H 3
0,002 0.020 0100 0.180 0.026 " 1
0.002 00009 0,075 0156 00114 -
0.003 0.0314 0.519 0.450 0.08 2 g 2014
0.001 0.008 0.062 0,051 0000
0.002 0,013 0119 0,096 0.034
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HAF0 4 8 4F B2 3% KL )|

S B’ @k B © 15:) A BHRE (om) | BWNE (=8 P H

4 8. 1 16.5 134 | & @ >30 7.1

2 130 13.7 " >30 6.4

3 190 136 |# K & & >30 7.6

4 15.0 138 |%&# & & H >30 7.4

5 13.0 130 ” >30 7.1

6 15.0 130 " >30 6.9

7 15.0 130K & ®& 23 6.4

8 190 128 " 27 6.6

9 160 126 & & & B >30 6.7

10 220 138.7 " >30 7.2

11 190 14.0 " >30 6.7

12 14.0 137 " >30 6.4

13 15.0 139 " >30 6.3

14 180 15.0 " >30 6.9

15 14.8 14.0 | % f >30 7.4

16 195 140 | & &5 F B >30 8.4

17 16.5 14.2 " >30 6.4

18 14.0 138 |#& K # @& >30 7.2

19 15.8 14.0 " >30 6.8

20 170 142 | &8 F 9 >30 7.8

21 200 15.0 " >30 7.3

22 16.0 145 |K & & >30 8.9

23 198 14.8 |/ & % B9 >30 6.8

24 220 15.8 " >30 8.4

25 160 15.0 " >30 6.2

26 190 15.6 " >390 71

27 14.6 146 | K % & >30 6.1

28 156 200 | K & @& >80 6.5

29 14.2 150 |®& & F H >30 6.8

30 2 1.0 157 " >30 7.1

=74 k=S 220 20.0 >80 8.9
74 ® 130 126 23

F 2] 168 14.3 7.0
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68 RA#N REEA b eAH

Cd (ppm) | As (ppm) | Z n (ppm) | C u (ppm) | P b (ppm) B W B
0.001 0.008 0.225 0.126 0.014 9
0,001 0.008 0.060 0.0838 0.010 10
0.002 0,009 0.073 0.098 0010 2
0.002 0.008 0075 0.082 0.014 1
0.002 0.010 0.070 0.078 0.012 0
0.002 0.008 0073 0,076 0.018 23
0.002 0.005 0.108 0.159 0.010 |BWA 31
0.002 0.012 0.070 0.115 0.010 22
0,002 0.009 0.065 01014 0.010 0
0.001 0.009 0050 0.078 0.000 0
0.002 0008 | 0073 0.088 0.014 0
0.002 0.007 0075 0.080 0.016 6
0.002 0.010 0.100 0.08¢6 0.014 1
0.002 0.007 0.071 0.066 0013 34
0002 0.027 0,097 0.121 0.0138 | WA 6
0.001 0.007 0.081 0119 0012 |&PH 1
0,001 0.0014 0.072 0.103 0.020 238
0.001 0.010 0.085 0.114 0.014 17
0.002 0.009 0.104 0.188 0.013 4
0.002 0007 0.085 0.114 0017 5
0.00 2 0.009 0.0.9 4 0.128 0.021 29
0.002 0.012 0.128 0.193 0014 {EPH 0
0.002 0.008 0.133 0.240 0.016 0
0.002 0.001 0.171 0.280 0021 |®PH 0
0.0 02 0.0009 0.097 0.106 0.014 -
0.002 0008 0.097 0.100 0.009 27
0.002 0017 0.145 0.164 0,040 |=BNA 18
0.002 0.008 0.097 0.116 0.017 0
0.0 02 0.007 0.086 0.108 0016 5
0.002 0.008 0.081 0.0814 0022 0
0.002 0.027 0.225 0.280 0.040 it 274
0.001 0001 0.050 066 0.000
0.002 0.009 0.095 0120 0015
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HF0 4 8 - Kl

K B ©jKxk B ©] & B | BRE e |BERE @ P H

48 17 1 285 158 |& &8 & H >30 6.4
2 197 161 &% #® @ >80 6.7

3 215 168 | &8 & B >30 7.1

4 195 170 " >3 0 7.8

5 200 170 " >30 7.3

6 26.0 172 " >3 0 7.2

7 225 178 " >30 7.3

8 21.0 176 " >30 6.4

9 194 176 " >3 0 6.2

10 225 18.0 " >30 6.1

11 2 5.0 186 " >80 6.1

12 24.5 17.8 " >30 6.6

13 220 19.2 " >30 7.1

14 232 19.6 " >30 7.7

15 2 3.6 19.8 " >80 7.6

16 2 4.8 20.2 " >30 7.1

17 2 3.2 20.2 " >30 6.8

18 2290 20.0 " >30 6.5

19 197 19.2 " >30 7.2

20 20.4 19.3 " >80 8.2

21 2 4.0 19.4 ” >30 - 7.4

22 198 19.7 " >30 7.2

28 165 18.3 " >30 7.5

24 195 18.5 " >30 8.5

25 200 19.5 " >30 8.4

26 23.0 200 " >30 8.5

217 220 20.2 " >30 8 5.

28 21.0 195 ” >80 7.5

29 2 3.0 19.8 » >30 6.9

30 2 0.0 19.0 " >30 7.1

31 25.5 198 | & £ >30 7.1

& = 2 6.0 20.2 >80 8.5
& & 16.5 15.8 >30 6.1
* = 219 187 7.2
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TH Rk REEA» M4

Cd (ppm) { As (ppm) | Z n (ppm) | C u (ppm) | P b (ppm) B W 8 @
0.002 0.009 0077 0072 0.0290 11
0,001 0.009 0.068 0,090 0015 19
0.002 0.011 0178 0320 0.015 0
0.002 0,010 0165 00127 0.012 1
0.002 0,011 0.080 0.116 0.009 1
0.002 0.008 0,070 0,079 0.012 —
0.o0o01 0,011 0070 0.072 0012 -
0.001 0007 0,06 5 0.0614 0004 —
0.002 0,009 0.070 0,071 0.012 —1
0.002 0014 0,060 0060 0009 -
0.001 0,012 0,070 0.066 0.0038 22
0.001 0011 0.0 68 0,061 0015 2
0.002 0.003 0.128 0,057 0010 —
0.002 0.013 0.08¢6 0,050 0.018 -
0.0 02 0.008 0.095 0,049 0017 -
0.002 0,020 0.106 0.0514 0.016 36
0.0038 0,020 0.170 0.211 0,046 7
0.002 0012 0.200 0.182 00138 2
0.oo03 0.009 0.125 0.140 0016 0
0.002 0,004 0.110 0121 0,012 2
0.002 00010 0.130 0103 0.018 3
0.002 0.008 0.125 0,070 0015 0
0.002 0008 0.103 0055 0017 0
0.002 0009 0,082 0051 0.013 -
0.0 02 0,007 0.082 0044 0.008 0
0.002 0013 0.090 0,050 0012 —
0.002 0,001 0,076 0046 0.013 —
0.002 0013 0.083 0.0438 00114 —
0.002 0.009 0.118 0.042 0012
0.o002 0013 0092 0.051 0013 18
0.002 0.01¢86 0.0 98 0.100 0,020 —
0.003 0,020 0.200 0.320 0,046 5 133
0.001 0001 0.060 0.042 0.0014
0.002 0,010 0101 0.088 0015
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A B Kk B O] &8  H | FREM|BERNE P H
48 38 1 252 206 | & & = >80 7.3
2 23.0 19.8 " >30 7.4
3 240 2 1.0 v >30 7.4
4 24.5 215 " >80 7.2
5 220 19.8 " >30 7.6
6 23.0 20.7 ” >3 0 7.1
7 24.0 2 1.0 " >3 0 7.5
8
9
10
11
12 24.2 2 1.4 9.5 6.7
13 24.4 215 |% K #® & 135 6.7
14 220 20.8 " 15.0 8.5
| 15 24.0 2 1.5 " 170 6.7
16 2 4.0 210 [# K & & 26.0 6.8
| 17 24.8 2 1.0 ” 26.0 6.9
18 24.9 2 1.7 " >3890 6.9
19 2 8.7 214 " =30 7.0
20 234 21.3 " >30 8.8
21 25.0 215 " >80 |- 6.5
22 24.0 21.6 " 20.0 6.8
23 23.8 211K & @& 150 6.7
24 200 205 " 20.0 6.5
| 25 210 19.8 w 14.0 6.7
26 220 19.8 " 15.0 6.7
27 218 20.6 " 26.0 7.8
28 210 20.6 " >30 7.7
29 238.2 210 & K & & >30 7.8
30 212 19.2 | K & @& 200 8.0
31 20.1 196 | K & & >3 0 6.8
& = 2 5.2 2.7 >30 8.8
& & 20.0 19.2 0 6.5
F ] 7.2
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Cd (ppm) | As (ppm) | Z n (ppm) | Cu (ppm) | P b (ppm) 3 (mm)
0.002 0.004 0.066 0.0414 0.006 1
0.002 0.011 0.062 0.0438 0.008 -
0.002 0011 0.073 0,044 0015 11
0001 0.012 1.8 6 0.150 0012 17
0.002 0.011 0.210 0.098 0.012 9
0.002 0.012 0.415 0.092 0,005 -
0.002 0.013 0.220 0.085 0.013 1

VRNt fis —
” -
” -
” _
0.003 0.045 0.180 0077 0.042 -
0.002 0.028 0108 0.072 0032 0
0.003 0.021 0.145 0.09¢2 0.029 0
0.002| 0017| 0875| 0os1| 0020 -
0.002 0017 0.093 0.062 0.016 11
0.002 0.016 0.100 0.054 0.024 -
0.001 0.012 0.092 0.061 0.010 —
0.002 00114 0.150 0.057 0.022 -
0.004 0015 0.108 0065 0021 1
0.002 0012 0178 0.145 0.012 18
0.0 02 0.020 0.128 0.105 0.0314 21
0.002 0.0 22 0.175 0.222 0.028 18
0.0 02 0012 0.155 0.212 0.020 21
0.0 02 0.022 0.123 0.112 0026 11
0.002 0.022 0.138 0.148 0.029 0
0.001 0.0 21 0.123 0.108 0.024 7
0.001 0.014 0105 0.112 0.008 -
0001 0.014 0.283 0070 0009 2 2
0001 0.012 0080 0095 0.012 —
0.002 0.012 0.100 0.095 0028 3
0.004 0.045 1.8 6 0.222 0042 3 172
0001 0.004 0.0 62 0.043 0005
0.002 0.018 0.216 0.095 0.019
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AN 4 8 4 Rl

K B Ok B ©] & | BRE () | EHE P H

48 9 1 2 1.6 197 |8 &8 & # >30 6.7
2 220 20.0 " >30 6.5

3 215 20.0 " >30 7.9

4 2 1.6 20.2 " >30 8.4

5 170 185 | K & & >30 6.5

6 17.0 18.0 " >30 : 6.6

7 16.8 18.0 " >30 8.4

8 190 173 |[&# &8 & B >30 6.9

9 180 18.2 " >30 6.7

10 20.8 18.6 " >30 8.3

11 17.8 17.8 " >30 8.3

12 172 18.0 " >30 8.5

13 162 168 " >80 8.8

14 16.0 168 [ #® & 8.0 6.7

15 175 165 | K & f >80 6.7

16 15.5 165 |K & @ >30 7.4

17 16.0 167 |&# 8 & H >80 6.7

18 15.0 16.7 " >30 7.1

19 16.0 16.6 " >30 6.8

20 172 173 " >30 6.8

21 16.8 170 " >30 6.8

22 15.9 16.8 " >30 6.8

23 19.0 17.0 " >30 7.2

24 20.0 165 |% #H & 2.5 6.1

25 190 160 [K & & 26.0 7.4

26 165 165 [ K & f =>30 6.7

27 170 170 |8 &8 & B >80 6.6

28 16.0 160 " >30 6.7

29 15.0 165 |  # >3 0 6.7

30 140 16.0 ” >30 6.9

B & 220 20.2 >3 0 8.8
& {5 14.0 160 2.5 6.1
¥ 2] 170 174 7.2
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Cd (ppm) [As (ppm) [ Zn (ppm) | Cu (ppm) | P b (ppm) B W & @
0.001 0011 0120 0.091 0.028 -
0002 | 0013| 0116| 0125 0022 —
0002 | 0015| 0116| 0120/ 0021 2
0.002 | 0011| 0122| 0060| 0017 13
0002 | 0012| 0154, 0088| 0024 26
0003 | 0010| 0187 | 0087]| 0015 5
0.002] 0010| 0096| 0068| 0017 4
0001 | 0008| 0085| 0051| 0018 1
0002 | 0010| 0087| 0054 | 0017 2
0002 | 0009]| 0072| 06055| 0021 6
0002 | 0008 | 0100| 0044 0014 -
0002 | 0014| 0108| 0042]| 0017 —
0002 | 0009 | 0086 0042 | 0014 36
00038 | 0028| 0200| 0.156| 0059 -
0001 | 0008 | 0082| 0063]| 0014 -
0001 | 0008 0084| 0050 | 0013 0
0.001 | 0008| 0089| 0042 0010 0
0002 | 0010| 0084 | 0044 0016 3
0002 | 0009| 0089 | 0049 | 0016 =
0002 | 0010| 0140| 0048 | 0018 0
0002 | 0010 0081 | 0087]| 0011 11
0002 | 0011 0112| 0048]| 0022 12
0001 | 0008] 0068| 0036]| 0014 27
0003 | 0037 0201 0172 0094 —
0002 | 0017| 00936| 0130| 0026 —
0002 | 00138| 0107 | 0083 ]| 0022 —
0002 | 0018| 0099 0.092| 0022 0
0002 | 0009| 0084| 0076 | 0016 -
0002 | 0009 0132| 0119 | 0016 1
0002 0011 0100] 0075]| 0020 29
0003 | 0037/| 0201 0172 | 0094 | = 178
0.001 | 0008| 0068| 0036 | 0010
0002 | 0012| 0108| 0075 | 0022
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PR R - ERB
seme ~BAW T 7 s ~Je 18] » [r. 18] » B 20 » | » | #
# B(mS)
® W™ A B #HL| o~ ” ” 4 ” ” ” 4 ” ” ”
X BTl ” ” ” = ” i) ” i ” ” ”
BREE A (FD) 10.00f 1400 10.00f 1400) 0,00 1345 95| 1420f 600 1200| 1800 -24.00
£ X B(m) om| 0737 03[ 03] o90] 09 o48! 045 o31| 030] om| 030
ERKE(m) 015|015 0071 o007 o018 018| o009 009 o25| 024] 24| 024
BER (gutm)
=d BOC) 222! 246] 220 21.8] 244 258 | 340| 860 250 349| o290 260
7 B(C) 17.% 9.8 176 21.7 18.0 18.5 270 28.0] 210 27.01 258 285
& s #5 %% #8 Z6
= = > I F v > v
ZF R OE(m) |[> 30> 30|>3|>30| 60| 86[>301>3|>3|>3]>xn|>3
PH 7.4 7.4 6.9 7.0 6.9 71 6.8 6.9 7.2 76 7.7 7.0
DO (ppm) 11.2 10.5 10.3 9.2 9.9 9.4 9.9 81 7.5 10.3 1.4 9.5
BOD (ppm) 20| 26| L1 41| vo|l 18| 11| 21| o8| 14| 13| 17
COD (ppm) 28 3.1 1.7 52| 116 46 1.8 32 1.3 26 25 2.1
SSs (ppm) 18 13 14 13 292 e 19 18 2 3 3 3
jﬁ%‘ﬁ%(mg/‘,ﬁ) 1,700 | 2800 | 30 | 5400 | 24.000 | 35,000 | 3,400 | 17,000 | 1,700 | 1,300 | 2400 22
BEER YR )1 - AR
BIEEE 8% | 7 hoz| 7 fnas| 7 Tiew] » [0 5] » [o 28] ~
w '’(mS) 423 423 460| 46| as2| 520
® B fr & |mo | o~ " ” ” ” ” ” ” » ” ”
X ' ” ” ” ” ” ” ” ” ” £ ”
R B (B5) 9.5 | 1420 1015 | 1410| 10.0] 1400] 10.00) '400{ 1000| 1400] 20| 1200
2 K B(m) 05 | 055| 070 | o68) 07| 075 o055 055( os| 055 43| 043
FBRAKE(m) o010 ou| 01 | o13| o015 ois| o1} 011} om} o1nf o8| 008
EEEX (pguom) 150 128 12
= B(C) 254 ] 30.5( 280 | 250 148 34| 130| 125 8.2 56 e8| 10
7&K BOC) 210 | 242 160 ] 180 9.8 98| a0 60| 30 45 49| 24
& 2| V& b &Y
B & > v > v
& R E(em) 230 | 120 200 | 80| > %[> x| 210] 100] 180 80> s0|> 30
PH 671 68| 68| &7 67| 68| 67| 69| e8| 69| 78] 76
DO (ppm) 1] 89| 103] 92| 26| 108 32| 1190 41| 140| 4] 132
BOD (ppm) 12| 11| 09| a7 2| sz 11| 44| 46| 159] 19| 15
COD (ppm) 1.3] 28| 17 38 22 47| 26 68 58| 168 24| 27
58 (ppm) 3| 47 9 29 1 1 2| 20 Q0 63 9 2
K BRI (MPN/ ;,3) 16,000 [ 35,000 |16,000 | 5400 | 92,000 | 92,000 1,700| 220 | .50 | 16000 | 26 | 5 400
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3. 18

HERE 9 9%
w B(mS) 6.16
® W fr B|WOL| 7 ” ”
X ' B ” »é,ﬂﬁ ”
EEEE (B4 ) | 1800 2400] t0.00] 1400
£ K B(m) 04| o043 om| 039
BB AER(m) o®| oo08] oz o023
WE X (gulm) 160
2 ®’(OC) 18| 1e| 44| 89
X B(C) 86| =26f 62| 74
f iz
® 2
% MR E(om) 2%.0l>3[ zs5| 1.0
PH 75| 75| 84| 81
DO (ppm) 1.6 106] 124f 1.8
BOD (ppm) 61l 49| 29| &5
COD (ppm) 60| 62 55 6.0
8S (ppm) 15 1l 2 38
R BN/ | 22,000 | 28,000 | 1,200 | 28000

PR o 1|+ TR
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w ' (mS) 304| 251
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REEFH (B85) | 1000| 1400] 945| 1420| 00| 1415) 10.00] 1400 1010] 1400] 10.00{ 1400
2 XK B®(m)| oe!| o068 os2| 048] oss] 08| osu| o4 oD} o0®w| oe62f 059
B AKER(m) o| on| oial ow| ow| 017 oos| ooe| o16] 01} 02| o2
REE (puom)
e BCC) | 23| ausl 21| 24| 238 2 s26| 348 s44| 360| 282 292
i S BOC) 1061 184] 163l 202! 72| 182 22| 287 268! 310 212| 242
=) 4 ZEH #H ZH e ARz ]
£ = i e > > >
# R OBE(m) | >30| 230{>30| 260| 140 60| > s0| 270 =2a5| 228| 65| 121
PH 72} 73] | m 6.9 70| 68| 70| 82| 79{ 65| 67
DO  (ppm) | 13| 9| ms| 11| 94 90/ 100| 105{ ns| 18] 99| 106
BOD (ppm) w6l 31l wr| 57| 20 29| 14l 41| 24| 19} 2a| 20
COD (ppm) 2.7 37| 84| 10 43 52f 21 60| 29| 21 44| 37
SSs (ppm) 4 2 14 6 52 n 9 1 2 5 % 30
KB BEREIMPN) | 9200 s500] 3,00 | 9200| 5500 17.000] 17,000 | 35000 | 24,000 | 92000 | 240,000| 11,000
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BIEIRE B8R o] 7 Juae] » Jev| » [+ |+~ B » 23]
i B(mS) 485| 58| 584 54
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Ry (B§4>) | 100 1400) 1000f 140 60| 1200/ 1800| 2400 10.00] 1400 600 1200
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= B’ (OC) 196 235| 182] 142| —05| 25| 4] 22 72| &2 o2 1o
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# R EB(om) | 235! 210[> 30| 270 >&| =o| 90| 85{ 250 230| =240 280
PH 6.8 68/ 68| 170 6.7 73| 69| 175 7.0 6.7 75 75
DO (ppm) 10.4 104{ 12.6| 1.8 12.0 137] 1.7 96| 132| 184 4| 121
BOD (ppm) 1.0 L9l 14 20 1.1 28 49 3.0 2.3 41 27] 42
COD (ppm) 24 39| 24| 38 14| 4af 81| a4l as| s8] 32l a8
S S (ppm) 1 1 2 2 1 18 30 1 10 15 19 7
FE RPN ) | 35.0m | 17.000] 35,00 7.00| 1600 92m{ 22000( 16,000 9,200 | 5400 92000 24 000
AR el e TR
ALEEE 8% ~ |3 18] 7
W OB(msS) | 72
B B fir Blgol| ~ » ”
PS & zxh| ~ & | W
BB () | wo| 2000 1000 1400 -
£ X B(m) 0.%6| 05| 05| 0%
BB AKZ®(m) otz| o012 eu| oun
HEE (guom) 170
=4 B(C) 11| oe| s8] a5
Vi B(C) a8 46| 70| 78
gk #
= =
Z W E(em) 210 120 > 30| >
PH 1| 76l 79| 79
DO (ppm) 21| 108 119| 123
BOD (ppm) a3 61l 26f 34
COD (ppm) 57| 62 36 55
S S (ppm) 22 32 12 i2
K EEESOMEN D | 3500 54000 9.200] 5400
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W BE(mS) 56| 260
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0225 | 0232 || 0275 035 700 | 0.125 0.05 | 0175 0.00
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5.3 6.7 1.2 71 10.3 9.2
54 78 20 82 90 90
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2 B’ 8.2 8.2 8.2 | 8.2 7.5 7.5 7.6 7.9
x B 5.8 5.7 5.7 6.2 7.0 6.5 6.5 6.2
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Z W E 8.0 7.0 6.5 6.5 7.0 6.5 6.6 6.9
P H 7.8 7.4 7.6 7.7 7.8 7.8 7.7 7.7
BOD 0.3 0.9 0.7 0.4 0.5 1.1 1.1 0.71
CoD 0.8 1.1 0.7 0.6 0.8 1.4 1.1 0.9
D O 14.5 11.2 10.8 11.5 11.6 11.7 10.0 11.6
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N H, 0.02 0.00 0.00 0.00 0.00 0.00 0.00 [ 0.028
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% B 10.5 10.5 10.5 10.5 10.5 10.6 10.5 10.5
x B 10.5 10.5 10.5 10.5 1.0 11.8 11.8 10.9
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